16+ 8 « =88

Addition, Subtraktion A - F e 6=141
und Multiplikation im ZR 100 | y bo L+ %\%S = 45

Achtung ! 1 %%S. 5-17=18

Lose zuerst die Malaufgabe.

Bilder:KeepinitKawaiiDesign

17+ 5 « =62
G- 8. 6=27
4+ 8+ =71
4. 5-17=28

G 9 +49 =67
6+ 8 - =35
Y+ 5. 4 =97
62— 7+ =L
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W+ 9 « 1 =86
G- 2. 3=89

9+ 5+ =72
e 7-13=29







15+ 7 « 0 =71
- 5. 8=54
5« 5+ =12
e 7o 14=142

F#+ 5 « 1 =97

3. 6=146
6+ 8+ =97
e 9-16=29







4O+ 3 « =76
4.5 . L =37
7+ 3+ =57
e 8- 28=1uL

48+ 5 - 1 =83
-6+ 3=69
9. 2+ =45
. 6-33=15

37+ 8 + =77

“_3. 0=58
Fe F+ =65
e 4 - 13=19
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